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Important Instructions

I This Booklet has a cover (this page) which should not be opened till the invigilator gives
signal 1o open it at the commencement of the examination. As soon as the signal is received
vou should tear the right side of the booklet cover carefullv to open the booklet. Then
proceed o answer the questions.

2 This Question Booklet contains 100 guestions,
3 Answer all questions. All questions carry equal marks,

4. You must write your Register Number in the space provided on the top right side of this page
Do pot write anyvthing ¢lse on the Question Booklet

s

An Answer Sheet will be supplied to you separately by the Invigilator 10 mark the answers.
You must write your Register No. and other particulars on the Answer Sheet provided.
tartling which vour Answer Sheet will not be evaluated.

6. You will also encode your Register Number with HB Pencil in the space provided. If vou do
not encode properly or fail to encode the above information. vour Answer Sheet will not be
evaluated

7. Each question comprises four responses (A). (B). (C) and (D). You are to select OMNLY ONE
correct response and mark in your Answer Sheel. In case vou feel that there are more than
one correct response. mark the response which vou consider the best In any case. choose
ONLY ONE response for each guestion. Your total marks will depend on the number of
correct responses marked by vou in the Answer Sheet

B In the Answer Sheet there are four brackets (A), (B). (C) and (D) against each guestion. lo
answer the questions you are 1o mark with pencil ONLY ONE bracket of vour choice for
each question. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If vou mark more than one answer for one guestion. the answer will be treated
as wrong. E.g It for any item. (B} is the correct answer. vou have 1o mark as follows and
write B i the box provided forit. (A [l («C). (D) B |

4. The sheet before the last page of the Question Bookler can be used for Rough Work
0. For Question Nos, 1 w0 100 in all mauers and in cases of doubt. the English Version 1s final.

[l Do not uck-mark or mark the answers in the Question Booklet
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Mathematics Entrance Questions
. 12 . .
1. It 5mﬂ=ﬁ.thcn sin 26 s

24 b) _I_E_{_}_ ¢l _Zi d) Mone of the above
13 169 26

a)
. 12 L
siné = 3 sreuilsy sin 20 -

24 120 24

a) 13 o) 169 c) 26 d) gaic @eoansu

2. Ifa=5. h=4and ¢ = 3. then S. is the semi premolar of the ZABCis
a) 5 b) 4 c) 3 dy6
a=35.bh=4wppo ¢ = 3. aeils (WesBaTemsHlan enTFSDDETE 5=

ay 5 by 4 c) 3 dy 6

1. The value of a(sin B —sinC) + b(sinC —sin A4) + ¢(sin A —sin B) is

a) a by & c) 0 dye
a(sin B -=sinC)+ b(sinC —sin A) + c(sin 4 =sin B) waing

al d by b c) 0 dic

4. From the top of a light house 60m high. with its base at the sea level. the angle ot
depression of a boat is 45°. then the distance between the light house and the boat is

60
—m
V3
60 o m_wrupsten g elensy CsryrsSlelinha @G uLes 45° Bpssds Garamspdlsu
UTT&STa SiES uLE DGl elandg GaryrsHDGo @enL Buuster Ny

a) 60 m b) c) 60 Fim d) None of the above

a)6l of b) S% o c) 60 Vi o d) ggib Esoensy
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3. The conjugate of (1 + i) 1 - 2i)is

a) 1

(1 + i)l = 2i)et1 RemeoorF b5 bie06v01

a) 1 b) -2 c) 3+1
6. Modules of :#rf—i is

— 1
ay 1 b) —i c) i
1+

- 61601 &G evevtieuuileit 0L (B

I —1
a) I/ by —i c) 1
2 The value of (sin@ + icos8)" is

a) sinn@+icosnf
7 A 4 \
c) cosnj Z_o §+isinn1 Z_o|
\ 2 / \ 2 )
(sin @ + icos 8)" e W&y

a) sinn@+icosnd

g
<) COSH! 3—9\+i5inni E——HJ
\\2 ) 2

8. If w is a cube root of unity, then (1

a) 0 b) 32 c)-16

by -2 c) 3+1

d)/

d)i

d) -1
d) -1

b) sinn@ —icosnd
{ \

d) cosntz—ﬂ l—isin | —75—9\.
2 ) L2 )

b) sinnf —icosnd
d) cosn[ £—9\~—isinni Zr-——é)
t2 ) \ 2

\

A

—wH+wH)+(Q+w—-—w?)'is

d) 32

w eTesTLg) @il (piiig epeotd etaflsd (1 —w+w?)* +(1+w—w?)* e gy

a) O b) 32 c)—16

9. If the straight lines a,x +b,y+¢, =0 and a,x + b,y +c, = Oare perpendicular. then

a __b b)_‘i‘_zﬁ_

a)
d, b, a, b,

d) -32

c) a,a, = —bb,

dy 2o -

h

i

b'.’

ax+hby+c, =0 wpgo a,x+b,y+c, =0ee1n CarHEsT Coh@GsHg e

a, b, a, b,
a) —=-— b) —=—
) a, b, a, b,

c) a,a, = —bb,

a) 2

b,

b,
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10. Which of the tollowing is the equation of a straight iine that is neither parallel nor

perpendicular to the straight lien givenby x+ 3 =0

a) x =y b)y-x+2=0 c) 2y=4x+1

d) y+x+2=0

Aglasem Admission

¥+ v =0 ereim BBTBHTLIRMHES B eneiuileveon HHIoTen OF ki@ S eNe0m SHIDTeN BHT(_1g 65

FInewUN (h

a) v = v D)yv—x+2=0 N e S

-

1. The condition for ax” + 2hxy + by? + 2gx +2 fiv+ ¢ = 0 to represent a pair of straight

lines is
a) abc+2fgh—bf* —ag’ —ch® =0
C) abc +2fgh—ah™ —bg” —cf’ =0

b)Y abc -2 fgh - ah® ~bg® —c¢f* =0
d) abc+2fgh—af” -bg” —ch® =0

ax: = 2hxy+ e =2 o + 2 v+ 0 =0 stenm Fwetun(F ST sHL CHT(RBEDET ( LIU&S DT 601
: A b S E=010)

BlLib 606
A abe+2 feh—bf* - ag* —ch® =0
C) abc+2fgh—ah® —bg® —cf* =0

b) abc - 2 fgh — ah* —bg?—cf? =0
d) abc +2 feh—af* —bg® —ch’ =0

12118 is the angle between the pair of straight lines ax® + 2hxy + by? + 2gx+2 v+ 0=0.

then B is
2 f7.2 -~ ‘
a) tan ";__‘_'h_b_‘_’é} b) tan”
i a+k
| 3 ) | |
c) tan"!zwjh --ab‘ d) tan"!
! a—b | |

ax” + 2hxy + by" + 2gx+2fy+0=0 eeip BrienL CarBaeEnsd @enLiul L Garamms O

s1esflsv O e W&l

S —h TENpY
a) tan"?“Vh ab| b) tan-'|2Y/" —ab
i a+b ; a+b
12V < ab| REN
¢) tan”| | d) tan
a—b ! a—bh |


http://admission.aglasem.com/

Aglasem Admission

13.1f & and & are orthogonal then the value of&;+gjz —Ig—giz is

ay 1 byjal> -5 )0 dy 2( al® —151%)
d g B ugo GEhiEHEE GeUsLTHET craflev la+b P —|a—b i e @iy
a bylat b c) 0 d) 2Gal’ -1561)

14. The mapping f : A — B defined by the following diagram is

4 —= B

n o =)

b

a) onto but not one to one b) One to one

¢) one to one and onto d) constant map

Spasngnic GOWLGL UL f 4 — B saeusnad gnity?

a) GeualFFMITL Sy,60T60 Qe DISEH P FTTL DIEV6V a) PTG M

C) PMMEE e&TQ FTTY Wwhpie GeusilFFriry d) wrpiedl FriTy
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. .ox— —4 -3
15 The unit vector paraliel to the straight line & 3 2_» T 2'2 3 is
27 2k Y 27o3,R
a_}j_; "’Ji by i f+2k C)21+1 d) i _j
vid 3 3 J14
L 4 - - 3
‘—--ﬁ T o= l-T' = '—‘) = atslp GETLRMNEG EenanWUTS 2 6iTen @FeuE GeudkLiT
27 .f;-i-f 0 27— j+2k o 2P+ -2k o 2i+ 3ok
Vid 3 3 ~14
16, Let § =11, 2, 3, 4) defined arelation ponSas a p b<> a< b, then pis
A 2N (L 30 (14 b)Y £(1.2) (1.3, (1. ) (2. 3) (2. D}
Sy ML 2L (L 3. HH 2. (2. 4) (3.4} (1. 1. (2.2),(3.3). (4.4
seric S = 1. 2. 3. A1 ulles p ereim 2 mellsh susmwenm @ o b < g < b, sisiliss o s16WM
60T
ay {(L2) (1.3 (1.4 b) $(1.2). (1. 3% (1. 43 (2. 3) (2. 4y}
¢y ({120 (.3 (. H2. 2 H (G5 d){(1. 1) (2. 2). (3. 3). (4. 4)}

17. [f 4. B. C are any three sets, then the expressions “ 4¢B occur but C does not occur”
means

ay A~B~C byAwuB~C Sy A B~ &y A~BUC

A B wiomip C sieiuen efGSHenIlD peiily Semmihissn sisiict 4 wpmip B ullsv 2 _eiter 2_miisen
C ufes @eveney” stetim Fnmnllsn mui

a) A~ B~C myAUBNC Yy A B! dy A~ BUC

18. The solution of xdy + ydx =0 is
2 2 k] 2 - X
a) x -y =c¢ b) x* + v’ =¢ C) xy=c¢ d) —=c¢

xdy + vedx = ) stelp suendEHGH1LF Fwsnurl_igssi Firey

a) x - =c¢ by x? 3”7 = ) xy=c dI=c
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. ) ady . + .
19 The solution of == =™ +« x"¢ ' is

dx
¢ e X’
ay ¢ = o by ¢! = —
- 2 3
¢ _\'J \rd
C) e — D - dye ' = — — =+
2 4 2 4
v .
s e - x'¢ " s FMey
ofx
2 x-l e!x ri
e
b} ¢ =-——+"—+¢ b) e’ =— ———+c¢
2 4 2 4
()2\ 4 - e: Yl
R I e dyer =L 1T Lo
2 4 2 4

20. Which of the following is the differential equation of x1 —16 =0

ay v d‘_-“ v =0 b) A‘-c{}-i -y =10 <) 71'£+r:0 dy v ay
dx dx dx dx

et sumsussiaummled sTd xv — 16 = () 6 susdSEGHPF Faiun(s

dv dv . dv dv
ar oy = ) b — —y =) e Ly =0 d =0
! ’\u’x+1 )xdx + )ydx Y )}dx x

21. The amount present in a radioactive element disintegrates at a rate proportional to its

amount {p). The differential equation corresponding to the above statement is (¢ is negative)

a) dp < b) ar = of c) dr =cp d) . ~7
drop dt dr di

@ s8flwuss Qurmetlsn wrals wdiy. swwgludea (p) BpT alldigsgiee FHenSeund DS
B MFH TOD suNBSREBWEF FWwWeaTUT(B (¢ (HeNm 6165 )

a) @,i’ b)

= @— dp g d)ip,—v
drp

ct C) — =cp

= = —¢f
dr dt dt
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5
T cos® x .
22. The value of J -—dx is

s

cos? x+sin’ x

ar & hy c) 0 dy x
2 4
[ R —-dx e W&
Ccost xesint x
T i
23. If nis odd. Then Jcos" xdx is
a) vrf_?»ﬁ_n‘—z_n'rfimi b) nfl_n-3.n—5”
n—1 n-3 n-5 2 ) n—2 n—4
o n-2 __r_?_;_-i 1_] 4) nvl_n—B_HASH
n—1 n—-3 n-5 2 " n—-2 n—4
7 T @oeHDULSHL 6TERT sTaulls0 rcos” xdx én wahiny
» n—2 n—4 ks b) n—1 nv3.n—5
n-t n-3 n-5 2 n n—2 n—4"
o) n-2 n—4_‘ E] d) n—1 n-3 n 5.
n—1 n—-3 n-5 2 " n-2 n—4

24. The length of the curve x = I( —sint). v =

a) 8« b) 6 ¢ da

| =

el | B

Wk

NI

(SRR
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a(l —cos?) between r =0 and ¢r = 7 is

d) 3a

x =1t —sint). v=all—cost) =0 womwo ¢ = 7 EeOLUULL suenensusnTullet 15 emp

a) Bu b) 6a <Yy da

d) 3a
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25. [t the matrix 4 and 8 are commutative then

a) (4AB)Y = A" B” by (4AB)Y = AR c) (ABY' = B” d) (AB)Y = A"
SiellEet 4 wopmie B syengy uflonbm ellglEe 2 ul L gy eTesiish
ay (AR = 4" RB" b) (AB)Y = AB c) (ABY = B" d)y (A4ABY' = A"
26. Let 4 be a matrix of order n. Then the determinant of 47'is
; | H ] r ! . i
a) ﬁiﬁ b) | adiA ! &) adiA 4) ,qd}A.
iAi P4l P R

4 eTeRLIGg M suflenaFd EEBmrensti Dol b A7 e sieoellEGs Tensul et 1aSling

] | ] A ; A
a) gﬁ;ﬁ b) ._adjzj[ o édir d) | adjA
| | A | A" | A
. o2y )
27. The matrix 4 =| - fl satisfies which one of the following equations
L 7

b) 42 -24-57=0
d)y 4°+24-57=0

w. &\ pETEOHID 616G FWeUTL el 1iTHg) Qauisdins

i1
ent 4 =]

L3 /
ay 4° —24+57/=0 b) 42 -24—-5/=0
¢y A +2A4-51 =0 d) 42 +24-57i=0

T—den

/ x
28 The value of Lr Ll -+ Lj
x
C

a) i b) 0 ) x d) e
4 1y

LI‘]*—] 68T LD

¥ by x

ay 1 b) 0 c) x d) e
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a)x b) = oz d) 0
tan~ Y~ Ccot x =
ajyx by 2 oy o dy 0
4 3
30. The maximum value of f(x}=x" —27xis
a) 44 b) — 44 e) 1 d) 0

Aglasem Admission

f{x)=x — 27xetetim aniTy Neneumip sTlsirailuiisy QU@ WHELISIU DisDL WD

a) 44 b) — 44 c) 1 4o

. Pes
31, If x = acos®t: y =asin’ rthen £X
dx
a) cotrs b) —cot¢ C) tant dy —tan¢
N .3 . dy
X =acos ¢ v =dusin I etsifieb —
dx
a) cot/s by —cotr c) tanzi d) —tanz:s

32. 3x* —y° —7x+ 2 =0 is an equation of

a) parabola b) ellipse

c) hyperbola d) rectangular hyperbola

3x7 — 17 —7x+ 2 =0 (0&@ID susneneusny
a) UTeusn sTT6Y b) S stteul_L1p
C) S UT eu SITUILD d) Ggsusuas siFHlugsuansmuuLD

33. The center of the circle 2x° +23° —6x+4y+2=0is

i h d hY I3 ~
ayi -2 ] SYES c)qi,—i’i
2 : L2 / L2 J
2x° =23y —6x +dv+ 2 =0 steim sulLFHHed1 &sLown
3 ’ ; 3. 5 r3 \1
a); - =.—1- b) | =.1 o) | =.—1
2 7 2 7 \.2 J

I3 N
@ i-2a]
o2
f 3 0
d) | — =y
i Pl y
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34. The equation wax’ + 2hxyv+ bv® + 2gx + 2 fir + ¢ = Orepresents a rectangular hyperbola if
ar feo—ab =0 and a+-h =1 by i —ab =) and a+5b =1
Cr B —gh -0 and o+ b =0 dy b —ab=1and a~h =1

av’ w2y = e o« 2oy = 2 A+ o = 0 stenm Fwehun (G Bosusus 4P U suSHETWILD

ar T —abh =0 whoo o+ h=1 by fim —ah <0 ohane a-6H =10
¢l it —abh =0 o a ~H =0 dy A —ab =1 wphmoo v+b =1
[1
. . o . |—(x+1) =-l<x<]
33, I'he mean of probability density function fi(x) = 1 3 (x
0 otherwise
3 2 i
al - b - ch ! dy -
3 3 3
Fixy = '_3“ = —l<x<l] slem & HEsY L ThSFTTsH Frms
H )] otherwise
4 2 1
ar — b} . ch ! d) -
3 3 3
Loy 3
36.10C | =: 1= IfP= z- the mean of binomial distribution is
L3 L5 5
a) 4 by 6 c) 5 dy 0
R A e _ 3 . .
- 1= 1= D Eeng Pe ;slsuﬂsu aRUY uTsuaiien Fymaf
SRR T 5
ayd by 6 c) s dy 0
37 The area under jrdri:}dz is,
ap | by (0.3 c) 0 dy 0. 4771
_[tm:}d:s'u SENLDHE LTLL)
arl by 0.5 c) dy 0. 4771
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38. Binomial distribution is a _ distribution

ayeontinuous b)) discrete c) limiting di mean
THIYULE UT6USL eTellUg el __ UIgeush
ar GerLrefuwmen b) mallsas C) aTéuemsu d) sgraf

539. Find the standard deviation of first # natural numbers

.H~ 1

1y jre =1 oo
ay - — &y T
\ iz Vo Voo
APEHES 1 B e st Heilen Sl L aelleudaln
| faen — D it 1 oinT
a) i by ,j——— ¢ ] d
Vo Vo2 V 12 'N1a

40. Find the value of variance if S.D = a
ay2 hy 16 )20 dy 3
FHILLalievdslc = 4 srsiimmev Sigett allsudss suTdsF Frraf)

a)2 by 16 c) 24 dr 3

41. Four friends take an ¥ Test. Their scores are 96, 100, 106. 114 which of the following is
true”’

) The mean is 103 ii} The mean is 104 ii1) The median is 100

iv) The median is 106

a) (i) onh by (i) only ) (i) & (1v) d) (iv)yonly

BTG BENUTHET DimfleysBmen Guriuisv Guibm wWHUGusHssT 96. 100, 106, 114 ST65TMIT 61
Ulsneumeusiieummiey 618 &7
1) Frmed 103 i) sgmed 104 1) @epLBienso 100

Wl @EenBlemse 106

a) (1w b b {ii) L Bw ch{it) ommie (1v) dy (ivy o B
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12. The variance of the following data i. 2. 5. 4. 5 is 25. if these data are add with the number
[} then the variance 1s

ay 1.5 b1 0.5 ¢} 3.5 d) 2.5

i.2.3.4, 5 aenm sivtrseilen alleudss auiress FTrsfl 2.5 @suGeumyy 61507 2 L b 10-mm

Fnl_IQEmTeu DB 6U6VED suTdsE sTmad]

ar .3 by 0.5 c) 3.5 dy 2.5
diam A 4pc L
1h he cu

ay - by —— c) — dy +

F 2Rr R .
aqpc. o Lo

ab b ca

' ! o &
2 b) ) — d) —

r 2Rr R .

44. If one root of x° —kx + 5 =01is 2 —i.then the value of k is
ay 2 hy 4 c) -2 d) -4
Do oaenugl xT - kx + 5 = 0 eieugen @ STGeusiimmey & & gl

ay 2 b) 4 cy -2 d)y —4

45. For what value of A if the points {3, 2, —4), (9. 8, —10) and (A, 4, -6} are collinear

a) S b) 48 ¢) 60 dyo
(3.2, -4), (9. 8. —10) (A. 4, —6) sreitm ysiTerilmen @G CHTEHTLIg6L DIKTOUPD 6Tssi 60 2651 DY
a) 5 b) 48 c) 60 dHo

— —

46. The area of the parallelogram having a diagonal 3 i+ j— ; and aside /-3 j+44kis

ay 043 b) 6-/30 c) %\/30 d) 330

“~

BensasTHElsn cpsmeuslllL GeudsL T 3i+ j— &k wohmp -3 j+ 4k eTehiugl @b LbaLn aefisy
SUF:6HT UTUY

3
a) 1043 b) 6-/30 ) =30 d) 3/30

12
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47. If e. and e, are two unit vectors at right angies then the value of | e, +e, |is

a) 2 b) greater than 2 c) =2 d) V2
- -3

Bk 160 LKUSBL TSN ¢, HnD ¢, GFbkeEETE BHbHSTe | ¢, + e, 1 er gy

a2 by > 2 c) »2 d) V2

YA : dy .
48. The solunon of ™ & 3 = SN — -+ X = COSIIs
dr dr

a) x e s Be Vv =sint - Ae + Be
b}y x=Ade + Be :y=sint— ¢ + Be™

Clov s de - He v =cost— de + Be™

di v =sine - te - BeT iy oo de = Be
A dv
e v =sinr =
ot dr

e) x=.de® + Be ¥y =sint— Ae” + Be ™

+ X = COS! s1601D 616 BBOBIPF FIDEFTUT L taes a&iF
g 614

N x=de' - Be ',y =sint—Ae” + Be™

f

2) x=Ade + Be iy =cost— Ae? + Be™

Ny vy=sinr—de’ ~Be ;3 = Ade’ + Be™’

49 The arca bounded by the Parabola v¥ = Jax from x = ¢ 0 x = 2ais
2 4 2 8 2 — K N —
ay B¢ by o 2 2v2 - a vz
i o 2 >
v = dax eIsD UTsuensTWISSle0 X = g WHOID X — 2z ufest e UL L ariy
2 a4° 8a’ _ da- _
a 39 by 22 o E_2vz2-n dy 2L 2vz 1
3 3 3
S0 o [ 0o 0
: | | 1
50. The matrix ; -3 1 0 f isreducedto | —3 | 0| by the elementary operation
f . i i
L2 0 1) L5 -1 1
a) R, — R. + R, b) R, — R, — R, ) C, > C, +2C, dC, >C -C,
1000 r 0 o
| Wl . P
F BTFUUD 5T GEwsfusy P31 ! eTeiim Bisouh P=3 1T 0. stehip oiemlwns
L2001 LS =1 i
T DOLULGE DS
ar K, —- R~ R, by R, — R, — R, <) C, —=C, -2C, d) C. - C, -,

13
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Physics Entrance QQuestions

31 Xerox copving machine is working on the principle of
at Electric torce b) Mugnetic force
b Blectrostatic torce of artraction dy Centripetal toree

SFFULETUL BSEU 61hEHTHSA LwsiukFo alens
a) Wilenyeu & ems b) snmsLgee sllens

) eemauid eneiuasy FITUY s d) o GRT &S ol engs

A2 o denncal point charges separated by 3m experience a torce of 1 N then the valoe
ol wach charge is

ap 1y © by 10 C eyl C dy 107 ¢

G HemL Geusiwilels o_sitem gdhs Wsisnnl kst Guiren aflens 10 N, asflev sisumailsn
L saTEnml_ LD
ay i by 10 C c)1C d)y 107 C

S3. The number of lines of torce that radiate outwards from one coulomb of charges is

ap 13 = 0 b} 8.85 = 107" ¢)9 = 107 d) infinite

S snaund Wengarl Lo @ (heuT &b Benaillensds Garhaailsn semenilsens

b) 8.85 <10 c)9 * 10 d) apgeies

ar .12 = 1

S4. 1f the iength ol a potentiometer wire is increased. the accuracy in the determination of’

null point
a) Increases b) Decreases
<) Remains uncharged d) Sometimes increases and sometimes decreases

o anamip HEwcT el medulsn of emn oflesgre. sl slsubsulsted sTemusDaTE geval uhatens
Al an R bl #emma

S RTGRLT Y d) e Jeny memman
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3. the colour code on carbon resistor is red - red - block. The recistance of the resistor s
ay 1.3 (2 h} 2724 ) 220 ) dy 2.2 K £

Sy BTTLIER GHemi it datlulen uf sy o Blas i Hemen Eind BT Tens Fleuli-He ni-m: ke
SHBEN SHTTUGH ghon i SaruTeh uiissrsem,

ay 2.2 O 220 Cr2200 dy 2.0 K2

S6. Cyclotron could not accelerate the clectrons because

a)  Electron has low mass

b) The velocity of eleciron is high

¢} There is a relativistic mass variation of electron at high velocity

dt The radins increases when the eleciron in on motion

G EESTTLTTEIT 6 STeuAL TTeidbsneat | pHdaGay gt ) siGenestiets
A1 ETsufsl e BleDm (FHemisy

b sieudlqneten ofiens Geumit wwsSalh

Vi Bhi BlenatEeuds B0 s1eudi. i restle Blemin LOMMILEGES T

i Faerhigh GRITIREY eul. L. LUNEDS a4 Tis EALALN L AT

37 Filament of an electric bulb asually enclosed in a glass bulb containing

a) Inert gay at high pressure b} inert gas at low pressure
<i Ideal gas at high pressure d) Idea! gas at low pressure

diesreflany eifien B gpistion L EHTEUTI LD 6318y STLABLIT B ~rrrmerrne - —morrron LU L. 60T s T1g

SIPlgnien SmaEe

a1 Bl SIS BEEIE DBS Ty b) Bomn S(pesEEH LHES surwy
S BERY SHIpEHHHIN DRSS AT dY wanm Dupse afiso B euE LIS Jgum L

38 bangem gabvanometer s most sensitve if

a) B B, by B« By o Be B, d) B= B,

Br.gbgrewil. & ecsuerTUS LT BisstamTTey (ShasTd HuhHs Bl
ay B By, by B =< B, ¢y B« By dy B By,

9. Which of the tollowing does nor allow d.c. 1o pass through

A} rESISIOT by capaciulor ¢ inductor dy al} the above

B gt @lops (SamBanrl L homd SereufGur um DG B TE BHed 515 P

G i g omi, B Slen@adosir C ) Sebrgnentrig d) Bumeaie SIS anD
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60. A transtformer

a) transforms energy b} transforms frequency

c) transforms voltage d) generated emf

Lleat Lo )]

) @pHDENEY WTHIID b) wiglivey s1emiemett LoFDMILD

<) 106860 1P BHFH N D LLTMDID d) Seneslu i@ aflenaarus £ _(HeUTSHGHID

61. When a light ray of wavelength 6000A*° travels from air to medium of refractive index
1.5. its frequency will be

a) 4x 10" Hz b) 7.5x10"*Hz c)5x10""Hz d)6.4x10'*Hz

4000A° mievEsmic QeTaiL geflwmss g STomiee BubbE el ailleuasst eTesit 1.5, Gkl DL SHFHHledl
s FGFsugD BuAE DB FTGieuam
a) 4= 107 Hz by 7.5%x10"*Hz ¢) 5x10""Hz d)6.4x10'°Hz

62. The condition for getting dark rings in Newton’s experiment is

ay 21 :(En—l)-:—' b) 2t :(2n+1)§ ¢y 20 =124

-

d) 2t = na

FuLl el eusmeuImi®erilsy SUhenlD euamsTuiD BHNeimsuGMHETes BILkHS e

a) 2!2(’2?1—])% b) zrz(znu)g— c) 2z=i;i d) 21 =ni

63. The spectrum used for make dye is

a) Line absorption b) band absorption

¢’ Continuous absorption d} line emission

21 UREsT HuUTTiES UWLBEUSRI

a) eurf 2 Seul HDwoTansw b) uient. 8| SeuT BIDDrense

C) GETLT B[ HauT EIDDTEH S0 d) suifl 2 18p Bimwrenen
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64. Regarding to the draw backs of sommerteld’s atom model which ot the following
statement 1s incorrect”

a) 1t could not explain the distribution and arrangement of electrons in atoms

b1 1t was unable to explain the fine structure of spectral lincs of Hydrogen atom

¢y It could not explain zeeman effect and stark effect

dy 1t does not give anv explanation for the intensities of spectral lines

F1CTELEV ST HiEml TENL Lgale BODHW GHMDUTBEmenl GUTISSE dmDqiseefia: slg) SHeun<
a) gD spemmiel 6160 FesEetiieh LaFa) IDIE Henwiy FTurs allendslualisusms

bl emami Tegen Hioemevuliey BT ULGLD Fiesteaoiius suflsEndd Guitdlu sllaldbaic B svamey

¢) sroLmnéeE Fosh allensnsy slemEsUUL s116065 60

d) dlorsmevuiss Gamiey unml SausalD GFeUISSULIL Allsvame

65. The process of taking atoms from ground state to excited state is called

a)pumping b} ionization c¢)excitation d} stimulation

oiEsliene DigEleney SpDmev Blemeoulledihba denradl shmev Blenmsude GETsTH GF sugn BlEipey---

Q) Gsmiay b)) snwehurssio C) dlennFdhunssn d) mresviBses

66. The special theory of relativity deals with

a) objects moving set comfort speed

b) systems at rest

¢) objects and systems moving at a constant speed or at rest relative to each other

d) all the above

Apiy snmIlws QETeTen S & 1D& SeT0_ DT sTHemes el @GS e ¢

a) Gurrplse wriprd Couasdgi 651 BUtIESF niguiand

b) Gatsdas odeyFleneoullev @rruLsng

) GuImplast DL BETeEEalsw sCHEUD e [ WHEDTeIenms FnithHe TS CoubdHg i e
BURISFIgU BIGVSLSE Gusy Blemsuuilsu BHLLENS

Jd) Gwpenfius &ierealghsorthu il
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67. The number of magnetic lenses used in an electron microscope 1s

a) i b) 2 c)3 d) 4

stevdnl_iTes EiewmG e saluilsy LuisTUHHSUUGLD HAHHETUI GeV6s S BTN 1659 508 56N

a) | b) 2 c)3 d) 4

68. The wavelength associated with an electron having a kinetic energy E is proportional to

a) B'* b) E ¢y E? d) E*

Bwiss oLbmsd £ wiiuyenuw sTeodl Jra e GarL T uw VD M HFAING CHTsEE
GIEHTL LN L UigI

a)E'"- by & c) EF dyE™

69. The binding energy of an oxygen atom is

a) 127.63 MeV by 127.56eV <) 12756 kg d)127.56 gm
P Speeniiggen ogmieles dlsnemiy aLmmeu

a) 127.63 MeV by 127.56 eV ¢) 12756 kg d) 127.56 gm

70. The half-life period of a radio active element is 100years. How long would it take for
3/4™ of the sample to disappear?

a) 150 years b) 200 years <¢) 75 years d) 300 years

H@HMNwbs WM @6 DT e 100 sughlip siafle: HihSHeTLD % SO (GHEmDU S1EUSET6Y
STE0D 61(HEHHIE G eEHin

a) 150 su@murimen b) 200 sumpLrusen ¢) 75 sumLriumen d) 300 sumptumen

71. Arsenic is an __

a) divalent atom b) trivalent atom

¢) tetravalent atom d) pentavalent atom

uTFalE Qb

Q] B BeaemEDaT HigH D) apsng BememBIDen DIgD!
c) prsng BeremAnen s ) mba BeemBpaT DI
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AL S AL AL, CAL
a) — b)!—'; cy i —4& dy i == |
M' EETRr WY P \ A["i /Im ’ " AIH ey
Gurz 2 BpLuTen &Om WrTeandlen flet GuIbEEL
A, (AL, Al D AT
a | L by | | o) (AL ] |
~ Al /Il I \ A[ft /"r‘(‘(; hN A]H f}w e . Nh’ /,J i

73. Accordingly to De-Morgan's theorem A+ B =

le-WTTHen CHomedHen g A+ B =

a) A+ B b) 4 B c) A- B d) A+B

74. The advantages of tiber optical communication

a} Transmission loss is low

b) No interference in the transmission by electrical nose
¢y Fiber is lighter and less bulky

d) All the above

el @ebp Heusy G Tilen BT ST

a) sigfligsn GuTg goUBGD BIpiy GenDey

b} BepnFFdimeniev gDUBLL HDISEG Bevaneo

Cl  oanbs 8L SmpBU LGS GESTsTEhD

d) Benew wienens gD

75. Amplitude modulation is used for broadcasting because
a) it is more noise than other modulation systems
b) compared with other system it requires less transmitting power

¢) of low cost

72. The current gain of a transistor in the common emitter configuration is

Aglasem Admission

d) no other modulation system can provide the necessary bandwidth for high fidelity

@efluTLOD G el &Fs vanBubmd wenp VWSIUER S FE STTID
a) w¥ls BOTFFme HTH Fnlguid

b) Eeonhs GEwusvFEDen e L W

C) manDnha aflemsuullsy DIHDEESITD

d) s&s uLanL msmEds Vs v Wips (WhiemEemwu Bmo
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Chemistry Entrance Questions

76 The wavelength of electrons determined by diffraction experiment were found to be n
agreement with the values of

a} Heisenberg equation by Einstein equation

¢) DeBroglie’s eguation d) Plank’s equation

alleflicy allensney Gompenanuiicn GuDiILLL €16V L] TENEHEMI DIIEVB 6N 61HMGHL GUTHBEIHISHDE”
al GemlgsTuTE FIneLUTl bl maveuenL T FWwenUn (R

¢l . O7T&3en FoeRUTH d) e sweaiLn(h

77 The condition for the wave associated with an electron to be continuous 1n hvdrogen
atom 1s
E . h - y
a) = hv by A = — ¢y 27Ta=n~4 d)all these
#
sl Tiged @nIeilsy s160EL TTEDIL 681 LIBHTLTHENL Ll SHSHE GHTLTEFULETS BhES HIbSensw
h

a) E =hv by A = — c) 27a =qnA d) @ensu DewesBHEHID
p

78. The Periodic Property that in creases on moving down a group

a) Atomic Radices by lonization Energy

¢y lonic radius d) Atomic radius an ionic radius
h GaTHBUT e Beakbhgl & GiFsugis Gungl ENEAE SF X0 e (

d) -BIgu SLII b)) owsiuTs B oy, Do

C) ol myLTw d)  ogm o whRr siwesll HEyo

79. The periodic property that can be used to predict the nature of bond 1s
ay Electron affinity b) Electron negativity

¢) lonization energy d)  Atomic volume

UisoraantiinTeh &eSTenioeili SIM W 2 HeUlD Dpeuil ey

ay  steudsl g6 BTl LD b)  sreudLiTest @ oultdmell

C)  sweiwurEsn sLDoes d)  wiemm UCbLDs
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80 The compound formed by P+ (' with moisture is
ay H® PO~ by H+P20O" <) HPO® dyH*POH

aTLuBESM s P D s Galwu

a) H PO by H+P=0O" c) HPO? dyH:pO-2

81. In f-block elements the extra electron enters in

Aglasem Admission

ay (n-f orbital by (n-2)f orbital <) (n-1)d orbital d) (n-2)d arbital

f susmad SHeTomidedled anBHev 6160EL 76 GEaim Garmp opmill L Tev

ay (n-Nf el Coss b)Y (n-2) ekl imsy ) (n-1)d spmdicmee d) (n-2)d sumficc e

82. Entropy is a measure of
a) Efficiency of a system b) Work done by a system

¢) Randomness of a system dY Orderliness of a system

eTedil_ Gl i Tes1h e el LB eud)
al asmwindies 7o FHmein b) semoly GaEdig Beusmsu

<) SHEDIC LT 6T 6L BB DT HETEPLE d) S LN (L BiGHEH HEsTENL

83. Which one of the following AG value represents an equilibrium reaction
a) DG=-51KFI  b) DG=0 ¢) DG=+51KJ d) AG=65KJ
AG st & paaamL srrduy FwBme: almersn.usd GHlEsns

a) AG =251 KJ by AG=0 c¢) AG=+51 Kl dy AG =65 KJ

84. The half tife period of a first order reaction is 1) minutes. The time taken for 99.9%

compietion of the reaction is

a) 100 minutes b)Yy 70 minutes ¢y 80 minures dy 20 minutes

S (LS suend alensuwilsn DIsnT suTipal STeue 10 B L fussh siaflen aflanen 29 9% MismnauspL

By, B HTECLE

a) 100 BSWS_dumsen b)) 70 B rusehn ¢) 80 BuSI_rumet dy 20 Bhsih sussi


http://admission.aglasem.com/

Aglasem Admission

85. Which of the following is not an adsorbent

a) Silica gel b) Charcoal ¢) Magnesia d} Manganese dioxide

FDEBEHLUDNIST LTS SHaKHD GUITIEST DIELEOT HE

a) Hellwn Gggpso b) sevamil c) Guasaildum d) wnrumef s
86. One ampere current passed for | second will liberate

a) 1 mole of element b) I gram equivalent of element

¢} Avogadro number of atoms d) Electrochemical equivalent of the element

ST oot Bldteryseng | GBmg GEID GFaEssusT e GeusflLuGsuE
a) 1 Gurév geiliol b) g Lrnb swwrer Kenn seaflon

(o) WETENE S, (e, = o QN S d) seiivssle ISaGaugls swioren [Blenm

87. In Daniel cell the Zn electrode is placed in the solution of
a) CuSO, b) ZnSOy, ¢) HCI dINHLCI

CLalwisb IBlhisevgglen 7N 16l6eunl ensussiiul. Bolen HenyF e

a}y CuSQy b) ZnSQ, c) HCI DHNHLCI

88. I'he sweetening agent in medicines and beverage is

a) Ethanol b) Benzyl acetate ¢} Glyceric ester d) Glycerol

WGBS, uTenusaiiecs Gehuus seneoyyl guwirsl LLISALIGEVEI

a) eisgenmsv b)) GushenFed Sl GLI. <) BedlGafEsaeroliv d) SedtQsynss

89. The boiling point of phenocl is high because of
a} Aromatic property b} Covalent characteristics

¢) Resonance d) Intermolecular hydrogen bonding

Janieded Gardplanse sighs Buysss &TIamD
a) oBrrEiowgs Uty b} sasiNeewiiy usiny

¢) = aflenseay d) wpsvdEFapaEnEd @ant G o siem DeynL.T e Jlemsooriig
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G0, ROH ~ NH, — > RNFE,. The catalvst used in this reaction is

a) Alumina By P O3 <) Thorta 4y land 3
ROH 4+ BHz o » RNHz @cuafansnuiler bk Basinbib alisner@eus worhn
a) sieuufics By P2 Oy ¢} G d} I wepguic 3

91. Which of the following gives diethyl ether on heating with con. Hy SO at 413 K7
a} Acetaldehyde by Benzyl alcohol
¢} Ethyi alcohot dy Methyl alcohol

sl Hz 3Qa w413 K Qeviauglsmsoulleo el snssilfiingl et 61 HHe0 mEHens bl Goimine
1} sl méngenamn DY Gudrenssd ppsomamns

C)  s1HFIeE S FBGDTED dy  Grosdhisv opLsosapres

92, Compound A molecular Formula | {C; Ha Cla) when treated with alkaii gives compound
B. B on treatment with dilute alkali gives C. a beta hydroxyl aldehyde. B reduces Tollen's
reagent to stlver mirror. What is C7

ay Lactic acid b}y Ethylidene chioride

¢} Acstaidehcle dy Aldol

Gemplc A | apsedsanmy sorilibun@ Cz Ha Cla) snodban s efameribDuGagiu Gurops Gempio Bemuid
abai. B Bnss srrsgie allshenul(d (aem gup Uil soapl.gréed spsogemapen.s Shas. GFmmp B
B ausin eltemenl Gunmemen Qeustreflunr® aiediug. Gamnpn C wrg?

a) soréigd sudlsuln b) srnsfieNies enBensnr®

C) Ll L el Igsmam d) my s s

93 The aldehyde that is formed during photosynthesis in plants is
a) Methanol by Aceraldehvde

¢) Propenal dy Phenyl methanol

mreurisaiise aafllEGansamsuiist Bumgy GUHLLERD 2y soigenamE

A S HEHemLT e by sl Tepamans

i} ey LS snpaer 6 dy dlemense 15 HBTenUITED
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9+ The compound used as an urinary antiseptic is
ay Oxalic acid b) Acetic acid

¢l Benrzoic acid dy Salicylic acid
FOE TH5S GIBTON B SEWTS LB Gl

4} oEEFT0E Bdisoln b} =wfFil s sudsubd

) GuesrFErulls mudesoln b) srelfads sudsow

93. Nitro benzene + Cl- —>— m — chloro nitrobenzene. *A° is

a) AlCTH by ZnCl; ¢) FeCls d) NH.ClI

Bl BT GueFear + Clo —1 s m - 58mrGym enmsl CyrGuender ' A’ STEITLIZ
a) AlCI: b) ZnCl- ¢) FeCls d) NH,ClI

96. The protein present in the muscles is
a)  Structural protein b) Contracile protein

<1 Harmone d) Enzvme

FHENF HOT 601 BT@HULHID YIS0 2

a) @smwly Fnites Ursie b) smhudalflups ssemwwsiten Yysic

C) emTrGmsi d) sieiemaD

97. Which one is wrongly matched?

a} HF - etching on glass b) HI - reducing agent
¢t Agk — Water Insolubie d} H - F — Intermolecular H — bond

PTI HEUDT S GIUTHASULL HBeTamg)
a) HF - sansmmgsnu sflsssy b) HI — 9hsss smremt

¢) AgF - Bdlsv ssmrwnsy d) H — F — epevasanient. H feneorig

Aglasem Admission

98  The highest and lowest oxidation states of second transition series are respectively

ay 7 and +1 b} +8and +2 ¢} +7and +2 d) -8 and +1

BresL i Gene Blemsv sufllensuileh oflaul s WO GHOMBBULSF op,&HenSlsnGaimm mlansumsir ‘pemmGul

a) +7 whnic + ! b) +8 womub +2 c) +7 whmo +2 d) +8 waymo +)}
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94, Purple ot cassius is

a) Collordal stannous acid + Gold b) Ceolloidal stannous acid + Silver
¢) Colloidal stannic acid + Gold d} Colloidal stannic acid + Silver
Bad LA DA STEITULLu—

A} FmipwevLtaret sSlsup + GHTeuH b1 imiposl_Tenet sufieoin + Geueist

C) Hapic el TeflEs owdeolr + SusD d} aaipp soLreflE sudieur ~ Geusnsr

100. The 1ype of isomerism present in [CO (NH*}SBr] SO+ and [CO (NH?*)® SO+ 1 Bras
a) fonisation 1somerisin b) Coordination isomerism

¢) Hydrate isomerism d) Ligand isomerism

[CC {NH.},8r] SO, wpmur [CO (NH,],; SO ] Br éb & smem wapplusp

a) sueflonprluse b) miememea} wrHBUNT

¢} EGripm wrmmiunn d) =sei wrhouno
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